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Decrease Row: *P2tog, repeat from * to last st. P1(7 sts)
NB If you are using circulars switch the K's to P's!

Decrease Row: *K2tog, repeat from * to end of row (13 sts)
Decrease Row: *P2tog, repeat from * to end of row (26 sts)
NB If you are using circulars switch the K's to P's!

Decrease Row: *K1, K2tog, repeat from * to end of row (52 sts)

Decrease Row: *P2, P2tog, repeat from * to end of row (78 sts)
NB If you are using circulars switch the K's to P's!

Decrease Row: *K3, K2tog, repeat from * to end of row (104 sts)



